CLEVELAND PUBLIC LIBRARY

Finance Committee

December 19, 2017

RESOLUTION TO PURCHASE COMPUTER HARDWARE FROM BUSINESS SMARTS

WHEREAS, Innovating for efficient and sustainable operations is a strategic priority and due to the age, compute power and storage capacity of Cleveland Public Library's main Data Center, expanding server virtualization with 3PAR storage and currently owned server blade technology will enable a superior, more reliable and robust computing infrastructure; and

WHEREAS, For the operations of the Library to perform efficiently, staff workstations have to be replaced and upgraded in a timely manner. Computers have a usable life span of 4 to 6 years for acceptable performance and reliable operation. These new desktops and laptops are to replace units that are underperforming, out of warranty and are at or past end of life; and

WHEREAS, The IT/CLEVNET Department sought proposals from three vendors and received the following:

For 30 Staff Desktop Computers and 80 Staff Notebooks

Business Smarts	\$105,776.80
CDW-G	\$107,545.10
HP Public Sector Online Store	\$120,419.10

For 3PAR Storage

Business Smarts	\$ 67,594.26
Neobits, Inc.	\$ 88,928.84
Hewlett Packard Enterprise	\$133,899.37

WHEREAS, The desktop computers come with a 3-year manufacturer warranty and the notebooks come with a 1-year manufacturer warranty and the Library wishes to purchase HP Care Pack 3-year extended service for "Accidental Damage Protection" so cracked screens, spilled liquid, etc., that are not covered under the normal warranty will be covered; now therefore be it

- RESOLVED, That the Board of Trustees authorizes the Executive Director, CEO, or his designee, to purchase from Business Smarts (30) HP ProOne 400 G3 All-in-One computers for the staff at a cost of \$830.00 each, and (80) HP ProBook 450 G3 LCD Notebooks for the staff at a cost of \$1,010.96 each, including HP Care Pack 3-year extended service, for a total cost of \$105,776.80, with the expenditure being charged to General Fund Account 13010055-55530 Computer Hardware; and be it further
- RESOLVED, That the Board of Trustees authorizes the Executive Director, CEO, or his designee, to purchase from Business Smarts HPE 3PAR Storage, including network connectivity switches, installation and startup services, for a total cost of \$67,594.26, with the expenditure being charged to General Fund Account 13010055-55530/55540 Computer Hardware/Software.



QUOTE

Number

AAAQ6367 Oct 21, 2017

Expires

Date

t. (440) 526-2471 f. (240) 358-7179 Sold To

6770 West Snowville, Brecksville, OH 44141

Cleveland Public Library Bill Hood 325 Superior Ave Cleveland, OH 44114

Phone (216) 623-2828 Fax (216) 623-7120 Ship To

Cleveland Public Library

Bill Hood

325 Superior Ave Cleveland, OH 44114

(216) 623-2828 Phone (216) 623-7120 Fax

Salesperson	E-Mail	Ship Via	Terms
Jerry Short	jerry.short@busmarts.com		

	Line	Qty	Part	Description	Unit Price	Ext. Price
196		30	1UF40UT#ABA	HP Business Desktop ProOne 400 G3 All-in-One Computer - Intel Core i5 (7th Gen) i5-7500T 2.70 GHz - 8 GB DDR4 SDRAM - 1 TB HDD - 20" 1600 x 900 - Windows 10 Pro 64-bi - Desktop - DVD-Writer - Intel HD Graphics 630 Graphics - Wireless LAN - Bluetooth - 6 x Total USB Port(s)	\$830.00 it	\$24,900.00
TG[- 172]) 2	80	1LF93UT#ABA	HP ProBook 450 G3 15.6" LCD Notebook - Intel Core i5 (6th Gen) i5-6200U Dual-core (2 Core) 2.30 GHz - 8 GB DDR4 SDRAM - 256 GB SSD - Windows 7 Professional 64-bit (English) upgradable to Windows 10 Pro - 1920 x 1080 - Gravity Black - DVD-Reader - Intel HD Graphics 520 DDR4 SDRAM - Bluetooth - English Keyboard - Front Camera/Webcam - IEEE 802.11a/b/g/n/ac - Gigabit Ethernet Network (RJ-45) - HDMI - 2 x USB 3.0 Ports	\$810.00 -	\$64,800.00
©	3	80	UK726E	HP Care Pack - 3 Year Extended Service - Service - 9 x 5 Next Business Day - On-site - Maintenance - Parts & Labor - Physical Service	\$200.96	\$16,076.80
	4	110	BS-ASSET-01	Asset taging and recording	\$0.00	\$0.00
		CP	L Har	dware"	SubTotal	\$105,776.80
	\circ	1		Der 4 60121	Tax	\$0.00
CPL Hardware" Replacement Der 4 60/01 For training 200 ms Total						\$0.00
	Po V	1	ng pooms	Total	\$105,776.80	

Replacement Laptops For aging OPS & CPL Staff laptops Some All out of warranty/maine.

(Lowere) #22\$7



ONLINE PRICE QUOTATION

Quote Number: 11945710

Quote Name: 30 aio Quote Created Date: 11/13/2017 9:36:47 PM

Today's Date: 11/14/2017 3:31:44 PM Created By: bill.hood@cpl.org

Contract: OH - STATE OF OHIO (NASPO VP PC) (OA1067-13)

Product availability and product discontinuation are subject to change without notice. The prices in this quotation are valid for 30 days from quote date above. Please include the quote number and contract from this quote on the corresponding purchase order.

Use the File - Print option to print this form for your future reference.

CTO - HP ProOne 400 G3 AiO Non-Touch 20 Y7B82AV HP ProOne 400 G3 AiO Non-Touch 20 Windows 10 Pro 64 - HP recommends Windows 10 Pro ENERGY STAR Certified Label WChipset Intel Q270	art no ase 7B82AV DE36AV#ABA '6N52AV	Unit price \$1,180.77	Qty 30	Ext price \$35,423.10
Y7B82AV HP ProOne 400 G3 AiO Non-Touch 20 Windows 10 Pro 64 - HP recommends Windows 10 Pro ENERGY STAR Certified Label Chipset Intel Q270	7B82AV DE36AV#ABA /6N52AV	\$1,180.77	30	\$35,423.10
HP ProOne 400 G3 AiO Non-Touch 20 Windows 10 Pro 64 - HP recommends Windows 10 Pro ENERGY STAR Certified Label Chipset Intel Q270	DE36AV#ABA /6N52AV			
Windows 10 Pro 64 - HP recommends Windows Z 10 Pro ENERGY STAR Certified Label W Chipset Intel Q270	DE36AV#ABA /6N52AV			
ENERGY STAR Certified Label Chipset Intel Q270				
Chipset Intel Q270				
Intel Q270	BX99AV			
Intel Core i5-7500T 2 7G 6M 2400 4C 2	BX99AV			
	KF30AV			
Media reader				
HP SD Media Card Reader Included				
Internal PCIE Storage				
If Internal Storage is not selected then a selection				
from Internal Turbo Drive is required				
Internal PCIE Storage 2				
Only available with a selection from Internal				
Turbo Drive				
	BR82AV			
	3S45AV			
Integrated Network		•		
Realtek RTL8111 HSH GbE LOM Network				
Connection				
	E27AV#ABA			
HP Optical USB Mouse Ya Webcam	BS05AV			
1 MP Webcam with Dual Microphone Array				
	E15AV#ABA			
HP ProOne 400 G3 AiO Country Kit - Non-Touch Zi				
	QE73AV			
``	AR38AV			
	CP81AV			
- Smart buy - HP ProBook 450 G3 B	ase	\$850.41	80	\$68,032.80
	F93UT#ABA			
Operating system	I JJUITADA			

<u>Windows</u> 7 Professional 64 Bit with Windows 10 Pro License

Energy Efficiency ENERGY STAR qualified hishert pase)

Processor

Intel® Core i5-6200U (2.3GHz, up to 2.8GHz, 3MB Cache) with Intel HD Graphics 520

Out-of-Band Management

Intel® vPro processor technology Not enabled

Chipset

Chipset integrated in processor

Display

15.6-inch diagonal LED-backlit HD anti-glare

(1366 x 768)

Integrated camera

720p HD Webcam

Graphics

Intel® HD Graphics 520

Memory

8 GB 2133 DDR4 SDRAM (1D)

Internal Storage

256 GB m.2 SATA SSD

Optical Drive Bay

DVD/CD-RW Combo Drive

Pointing Device

Touchpad

Wireless LAN

Intel 8260NGW 802.11 a/b/g/n/ac (2x2)

+Bluetooth 4.2

Form Factor

Notebook

HP Mobile Broadband

Built in HP Mobile Broadband not included

Bluetooth

Bluetooth Wireless Technology 4.2

Security

TPM

Battery

HP 4-cell 44 WHr Battery

Warranty

Limited 1 year standard parts and labor warranty

HP 3 year Next business day onsite HW Support UC282E

w/Accidental Damage Protection-G2 for

Notebooks

\$212.04

80

\$16,963.20

Subtotal: \$120,419.10

The terms and conditions of the OH - STATE OF OHIO (NASPO VP PC) will apply to any order placed as a result of this inquiry, no other terms or conditions shall apply.

To access the HP Public Sector Online Store where this quote was created, go to: http://gem.compaq.com/gemstore /entry.asp?SiteID=14455

K12 Education: 800-888-3224 Higher Education: 877-480-4433

2 of 3

^{*} HP is not liable for pricing errors. If you place an order for a product that was incorrectly priced, we will cancel your order and credit you for any charges. In the event that we inadvertently ship an order based on a pricing error, we will issue a revised invoice to you for the correct price and contact you to obtain your authorization for the additional charge, or assist you with return of the product. If the pricing error results in an overcharge to you, HP will credit your account for the amount overcharged.

^{*} This quotation may contain open market products which are sold in accordance with HP's Standard Terms and Conditions. HP makes no representation regarding the TAA status for open market products. Third party items that may be included in this quote are covered under the terms of the manufacturer warranty, not the HP warranty.

^{*} Please contact HP Public Sector Sales with any questions or for additional information:

Bill Hood

From:

VALUED CUSTOMER <cdwsales@cdwemail.com>

Sent:

Monday, November 13, 2017 4:46 PM

To:

Bill Hood

Subject:

VALUED CUSTOMER Sent You this CDW-G Shopping Cart for Review

View Online

CDW-G CART FOR REVIEW





Accidental Part#: UK726E UNSPSC: 81111812

Go to Site

Account Message:

This email was sent to you from: VALUED CUSTOMER

Sender Comments:

CART D	ETAILS				
ITEM		QTY	PART# [UNIT PRICE (EXT. PRICE
Challen CO	HP ProBook 450 G3 - 15.6" - Core i5 6200U - 8 GB RAM - 256 GB SSD - US Part#: 1LF93UT#ABA UNSPSC: 43211503 Go to Site	80	4489705	\$812.84	\$65,027.20
	HP ProOne 400 G3 - all-in-one - Core i5 7500T 2.7 GHz - 8 GB - 1 TB - LED 2 Part#: 1UF40UT#ABA UNSPSC: 43211508 Go to Site	30	4714254	\$832.09	\$24,962.70
())) Care Pack	Electronic HP Care Pack Next Business Day Hardware				
	Support with	80	1540554	\$219.44	\$17,555.20

riddle reznd pas

Sub Total: \$107,545.10

GRAND TOTAL: \$107,545.10

View the Cart

Pricing is reflective of items only. Shipping, tax, and any related fees will be calculated at checkout.

SALES CONTACT INFO



General Sales (800) 800.4239 Email General Sales

Help and Information: Support | About Us | Privacy Policy | Terms and Conditions

This email was sent to bill.hood@cpl.org.

Please add cdwsales@cdwemail.com to your address book.

© 2017 CDW-G LLC, 200 N. Milwaukee Avenue, Vernon Hills, IL 60061 | 800.808.4239 WEB 007 [WEBfcde322d-f517-48df-aa1b-8bcb601dc6b9



6770 West Snowville, Brecksville, OH 44141

t. (440) 526-2471 f. (240) 358-7179

QUOTE

Number

AAAQ6364 Nov 2, 2017

Expires

Date

Sold To

Cleveland Public Library Bill Hood

325 Superior Ave Cleveland, OH 44114

Phone (216) 623-2828 (216) 623-7120 Fax

Ship To

Cleveland Public Library

Bill Hood 325 Superior Ave Cleveland, OH 44114

Phone (216) 623-2828 Fax (216) 623-7120

Salesperson	E-Mail	Ship Via	Terms
Jerry Short	jerry.short@busmarts.com		

L	ine	Qty	Part	Description	Unit Price	Ext. Price
	1	. 1			\$0.00	\$0.00
Ta6-7	2	1	K2Q36B	HPE 3PAR 8200 2N+SW Storage Field Base	\$6,487.35	\$6,487.35
Driver-	7 3	32	K2P98B	HPE 3PAR 8000 600GB+SW 15K SFF HDD	\$584.71	\$18,710.72
T06-7	4	1	E7Y71A	HPE 3PAR 8000 SFF(2.5in) Fld Int Dr Encl	\$1,799.41	1\$1,799.41
Tab	5	1	K2R29A	HPE 3PAR StoreServ RPS Service Processor	\$1,609.45	\$1,609.45
Ta6->	6	2	QW937A	HPE SN3000B 24/12 FC Switch	\$5,561.18	\$11,122.36
notes		2	QW937A 05Y	2.4m Jumper (IEC320 C13/C14, M/F CEE 22)	、\$0.00	\$0.00
Emedia =	≥ 8	1	L7F20AAE	HPE 3PAR All-in S-sys SW Current E-Media	\$65.88	\$65.88
Cable -		4	QK734A	HPE Premier Flex LC/LC OM4 2f 5m Cbl	\$77.79	\$311.16
cable-	10	8	QK735A	HPE Premier Flex LC/LC OM4 2f 15m Cbl	\$110.54	\$884.32
<i>-</i> ' ' '	11	24	QK724A	HPE B-series 16Gb SFP+SW XCVR SubTotal	95 \$276.35	\$6,632.40
Aspta	12			SubTotal J J J J J J J J J J J J J J J J J J J		\$47,623.05
	13					
	14	, 1	HA114A1	HP Installation and Startup Service	\$0.00	\$0.00
· ~	15	1	HA114A1 5XU	HPE Startup 3PAR 8200 2N Fld Int Bas SVC	\$2,388.24	\$2,388.24
7	16	1	HA114A1 5XZ	HPE Startup 3PAR 8000 Fld Int Dr Enc SVC	\$328.21	\$328.21
<u> </u>	IVSF	211	1 Start	up services.	0	

11/02/17 18:01:53 #2198
(2-A pase)

Minstall

Line	Qty	Part		Description	Unit Price	Ext. Price
17	1	HA124A1		HP Technical Installation Startup SVC	\$0.00	\$0.00
18	3	HA124A1	5Y0	HPE Startup 3PAR 8K Fld Drv-Drv Enc SVC	\$328.21	\$984.63
19	1	HA124A1	56W	HPE Startup 3PAR 8K All Inc Sngl Sys SVC	\$4,776.47	\$4,776.47
20	1	HA113A1		HPE Installation Service	\$0.00	\$0.00
- 21	2	HA113A1	5GA	HPE LowEnd SAN/Edge Switch/HAFM Inst SVC	\$381.44	\$762.88
22				SubTotal		\$9,240.43
23						
24 س	1	H1K92A3		HPE 3Y Proactive Care 24x7 Service	\$0.00	\$0.00
- 25	2	H1K92A3	9LJ	HPE B-Series 8/8 and 8/24 Switch Support	\$762.35	\$1,524.70
- 26	1	H1K92A3	WЗG	HPE 3PAR 8200 2N+SW Storage Base Support	\$2,265.41	(\$2,265:41
_ 27	1	H1K92A3	WSF	HPE 3PAR Internal Entitlement Supp	\$0.00	\$0.00
28	32	H1K92A3	<i>X</i> 7Z	HPE 3PAR 8000 600GB+SW 15K SFF HDD Supp	\$208.94	_\$6,686.08
- 29	1	H1K92A3	YNW	HPE 3PAR StoreServ RPS Service Proc Supp	\$41.41	\$41.41
- 30	1	H1K92A3	ΥΤJ	HPE 3PAR 8000 Drive Encl Support	\$213.18	\$213.18
					SubTotal	\$67,594.26
		0 2 4	_		Tax	\$0.00
~ J	46	Pont	7		Shipping	\$0.00
					Total	\$67,594.26

Lowest





HOME MANUFACTURER INDEX REQUEST QUOTE

SUPPORT

RETURNS

MY ACCOUNT

FEEDBACK ABOUT US SIGN OUT

 						
BROWSE BY CATEGORY	YC	OUR SHOPPING CART				
OFFICE & BUSINESS	Plea	se review your shopping cart and press check	out to procee	d with your o	rder	
OFFICE EQUIPMENT		<u> </u>	out to procee	a mai your b		
OFFICE FURNITURE & LIGHTING		< Continue Shopping			Che	ckout >>
INDUSTRIAL & SCIENTIFIC	#	Items in Your Cart	Quantity	Unit Price	Total Price I	Remove
LABORATORY & SCIENCE	:	Hewfett Packard (HP) + HA113A1#5GA + HP Care				
MRO PRODUCTS & SUPPLIES	1	Pack - Service - On-site - Installation (Item= 7175557, Call For Stock)	2	\$454.25	\$908.50	LJ
INDUSTRIAL HAND TOOLS		,				
TELECOM CARRIER INFRASTRUCTURE	2	Hewlett Packard (HP) - HA124A1=56V - HPE Installation & Startup Service - Installation / configuration - on-site	ī	\$4,672.93	54,672.98	
ELECTROHICS, COMPUTER & PHOTO		(Item# 10105674, Call For Stock)				
COMMUNICATIONS PRODUCTS	3	Hewlett Packard (HP) - HA 124A 1=5Y0 - HP Care Pack - Service - On-site - Installation/Configuration	3	\$327.94	5983.82	
POINT OF SALE (POS) SYSTEMS		(Item= 8581691, Call For Stock) Hewlett Packard (HP) - HA114A1=5X2 - HP Care				
SOFTWARE	. 4	Pack - Service - On-site - Installation/Configuration	1	5327.94	\$327.94	
CABLE ZONE		(Item= 8581693, Call For Stock)	\			
TELEPHONY, PBX & VOTP		Hewlett Packard (HP) - HA114A1#5XU - HP Care				
AUTOMOTIVE & MARINE	5	Pack - Service - On-site - Installation/Configuration	1	\$2,339.93	\$2,339.98	
HOME AHD GARDEN		(Item = 8531697, Call For Stock)				
MUSICIAN & PRO AUDIO GEAR	6	Hewlett Packard (HP) - QK724A - HP SFP + Module - 1 x 10GBase-X16 (Item# 1397453, In Stock)	24	\$303.55	\$7,285.20	
BROWSE RELATED STORE ALL PRODUCTS	7	Hewfett Packard (HP) - QK735A - HP Premier Flex Fiber Optic Cable - Fiber Optic for Network Device - 49.21 ft - LC Male Network - LC Male Network (Item= 1397460, In Stock)	8	\$159.95	\$1,279.60	
MANUFACTURERS CATEGORIES	8	Hewlett Packard (HP) - QK734A - HP Premier Flex Fiber Optic Cable - Fiber Optic for Network Device - LC Male Network - LC Male Network (Item = 1397459, In Stock)	4	\$92.95	\$371.80	
CALL TOLL FREE 1.866.636.2487	9	Hewlett Packard (HP) - QW937A - HP SN3000B 166b 24-port/12-port Active Fibre Channel Switch - 16 Gbit/s - 24 Fiber Channel Ports - Rack-mountable - 1U (Item= 4020239, Call For Steell)	2	\$7,876.64	\$15,753.28	
	- 10	Hewlett Packard (HP) - E7771A - HP Drive Endosure Rack-mountable - 24 x Total Bay - 24 x 2.5° Bay - SAS (Item= 8590291, Cali For Stock)	1	\$3,510.92	\$3,510.92	
	11	Hewlett Packard (HP) - K2P938 - HP 600 GB 2.5° Internal Hard Drive - SAS - 15000rpm - 1 Pack (Item= 10104457, Call For Stock)	32	51,147.85	\$36,731.52	

(2nd Page)

12	Hewlett Packard (HP) - K2Q36B - HP 3PAR StoreServ 8000 Storage - 2 Nodes - 2 Hexa-core (6 Core) 2.20 GHz - 24 x HDD Supported - 2 x Serial Attached SCSI (SAS) Controller - RAID Supported 0, 1, 5, 6 - 24 x Total Bays - 24 x 2.5° Bay - 2 x Total Slot(s) - (Item= 10104460, Call For Stock)	ī	\$12,589.02	\$12,589.02		
13	Hewlett Packard (HP) - H1K92A3#9LJ - HP Care Pack Proactive Care Service - 3 Year Extended Service - Service - 24 x 7 x 4 Hour - On-site - Maintenance - Physical Service (Item# 3683339, Call For Stock)	2	\$1,037.14	52,174.28		
		Merchandis	se SubTotal(Uodata \$88,	,928.84	

middle

Hewlett Packard Enterprise

Attn: Bill Hood

Phone:

Fax:

Quotation

To: Cleveland Public Library

In reply to your request:

Quote # 102417A52 Created

10/24/2017

Your Sales Contact:

Jim Bodie,

Phone:

Fax:

Payment Terms:

Submit Purchase Order To:

Phone:

Fax:

Solution	Net Price
Hardware Total:	\$97,750.00
CPU	
Memory	
Disc Drives	1
Network	
Software Total:	\$140.00
Support Total:	*
System Support Training/Consulting	\$22,263.00
Shipping and Handling	\$0.00
Other Total:	\$13,542.00
Grand Total:	\$133,899.37
Estimated delivery upon PO receipt (in	business days):
10 days	

highest

Quotation

Quote Number

Page

No.	Qty	Product	Description	Net Price	Extended Item Net Price	Estimated Delivery upon order entry
0100	1	K2Q36B	HPE 3PAR 8200 2N+SW Storage Field Base	\$15,755.00	\$15,755.00	10 days
200	16	K2P98B	HPE 3PAR 8000 600GB+SW 15K SFF HDD	\$1,420.00	\$22,720.00	10 days
300	1	E7Y71A	HPE 3PAR 8000 SFF(2.5in) Fld Int Dr Encl	\$4,370.00	\$4,370.00	10 days
0400	1	HA114A1	HP Installation and Startup Service			
	1	Opt.5XU	HPE Startup 3PAR 8200 2N Fld Int Bas SVC	\$3,500.00	\$3,500.00	
	1	Opt.5XZ	HPE Startup 3PAR 8000 Fld Int Dr Enc SVC	\$481.00	\$481.00	
500	16	K2P98B	HPE 3PAR 8000 600GB+SW 15K SFF HDD	\$1,420.00	\$22,720.00	10 days
1600	<u>.</u> 1	K2R29A	HPE 3PAR StoreServ RPS Service Processor	\$4,413.00	\$4,413.00	10 days
0700	2	QW937A	HPE SN3000B 24/12 FC Switch	\$8,150.00	\$16,300.00	10 days
	2	Opt.05Y	2.4m Jumper (IEC320 C13/C14, M/F CEE 22)			
0800	1	HA113A1	HPE Installation Service			
	2	Opt.5GA	HPE LowEnd SAN/Edge Switch/HAFM Inst SVC	\$559.00	\$1,118.00	
1900	1	L7F20AAE	HPE 3PAR All-in S-sys SW Current E-Media	\$140.00	\$140.00	10 days
1000	I	H1K92A3	HPE 3Y Proactive Care 24x7 Service			
	2	Opt.9LJ	HPE B-Series 8/8 and 8/24 Switch Support	\$1,350.00	\$2,700.00	
	1	Opt.W3G	HPE 3PAR 8200 2N+SW Storage Base Support	\$4,814.00	\$4,814.00	
	1	Opt.WSF	HPE 3PAR Internal Entitlement Supp			
	32	Opt.X7Z	HPE 3PAR 8000 600GB+SW 15K SFF HDD Supp	\$444.00	\$14,208.00	
	1	Opt,YNW	HPE 3PAR StoreServ RPS Service Proc Supp	\$88.00	\$88.00	
	1	Opt.YTJ	HPE 3PAR 8000 Drive Encl Support	\$453.00	\$453.00	
100	4	QK734A	HPE Premier Flex LC/LC OM4 2f 5m Cbl	\$114.00	\$456.00	10 days
200	8	QK735A	HPE Premier Flex LC/LC OM4 2f 15m Cbl	\$162.00	\$1,296.00	10 days
300	24	QK.724A	HPE B-series 16Gb SFP+SW XCVR	\$405.00	\$9,720.00	10 days
1400	1	HA124A1	HP Technical Installation Startup SVC			
	3	Opt.5Y0	HPE Startup 3PAR 8K Fld Drv-Drv Enc SVC	\$481.00	\$1,443.00	
	1	Opt.56W	HPE Startup 3PAR 8K All Inc Sngl Sys SVC	\$7,000.00	\$7,000.00	
				Grand T	Grand Total:	

Quotation

Quote Number

Page

2

Title Passes At: At Delivery, Named Place of Destination

The information set forth herein is for budgetary purposes only. Superdome requires a detailed design to be completed before an orderable quote can be generated. This quote has been generated in advance of the completion of the detailed design and is therefore for preliminary pricing purposes only.

Notice:

The information contained in this quote is subject to change without advance notice from Hewlett-Packard.

These list prices are valid as of: 1/1/2999

Country: U.S.A. Currency: UDUS

Print Date: